
H = 400 kN

Areq = Nd / fs,d = 820 ‘000 N / (235/1.05) N/mm2 = 820 ‘000 / 246 = 3330 mm2 
A = r2 · π = 3330 
r=32 mm

specific weight of reinforced concrete of 25 kN / m 3.
Slab's surface: 8*8=64 m2
2 slabs * 64 m2=128 m2
Total weight of slabs (thickness of 0.25 m): 128 m *0.25 m*25 KN/m3=800 KN

Eigenlasten des reinforced concrete slabs

Snow load in Zurich: 1.2 kN/m2
roof surface= 8*8=64 m2
qsnow= 64*1.2≈ 77 kN

q = 1.5 * 320 = 480 kN

g = 1.35  (800 reinforced concrete+ 75 steel ) ≈ 1200 KN
113 m * 66 kg/m≈ 7500 kg=75 kN
Eigenlasten des Stahlträgers

1

3

2 Structural Design 
(considering vertical forces)

Structural Design 
(considering 
vertical + horizontal forces)

Design concept Calculation of the loads
Tragwerksentwurf III - EX1: Steel

Calculation of the loads Task 1: global equilibrium
Tragwerksentwurf III - EX1: Steel

Task 1: qualitative analysis
Tragwerksentwurf III - EX1: Steel

Task 1: quantitative analysis
Tragwerksentwurf III - EX1: Steel

Task 2: global equilibrium Task 2: qualitative analysis
Tragwerksentwurf III - EX1: Steel

Task 2: quantitative analysis Task 2: dimensioning
Tragwerksentwurf III - EX1: Steel

Conceptual Design

Structural Design 
(considering vertical forces)

Conceptual Design1

2

Structural Design 
(considering 
vertical + horizontal forces)

Structural Design 
(considering vertical forces)

Conceptual Design

2

3

z

x

z1

x1 2. Qualitative Equilibrium

Span: Cantilever:

1. Global Equilibrium

Some mechanical installations are needed to be places on the roof of the building, on the corner with missing column. These installations will apply a ponctula 
load of 150 kN on this corner, which will influence the behaviour of the structure. Draw a possible internal force flow and determine with the help of force 
diagrams the magnitude of the forces in the structural members and at the supports for the indicated load case. Use the colours red for tension, blue for 
compression and green for the support forces. 

The following axonometric drawing shows a possible structure for carrying the vertical loads calculated in the last page (as of 440 kN on each corner). Draw a 
possible internal force flow and determine with the help of force diagrams the magnitude of the forces in the structural members and at the supports for the 
indicated load case. Use the colours red for tension, blue for compression and green for the support forces. 

Evaluate the structure of the previous page in the case of horizontal forces. Discuss the improvements needed to be made in order to achieve the stability of the 
structure under horizontal forces.  
The sketch below shows one of the possible solutions. Demonstrate a possible force flow in the structure under the applied horizontal force on the lower slab. 
Verwenden Sie die Farben rot für Zug, blau für Druck und grün für die Auflagerkräfte. 

3D

Sie entscheiden sich, die Aufstockung als Fachwerk zu konstruieren, with a steel structure and reinforced concrete slabs. In den folgenden Aufgaben entwickeln 
und analysieren Sie verschiedene Varianten zu dieser Entscheidung. 
In the first step, discuss which type of vertical loads are applied to the whole structure and calculate the amount of it. 

3. Quantitaive Equilibrium

2D

2. Qualitative Equilibrium

Sie betrachten verschiedeneMöglichkeiten, wie das Tragwerk für die Aufstockung ausformuliert werden könnte. 
Discuss how different possibilities of the continuous girder, Vierendeel girder and truss shown in the sketch below, can influence the weight of the structure, as well 
as the spatial and architectural qualities of the building. 

1. Global Equilibrium

3D 3D2D

3. Quantitaive Equilibrium

1. Global Equilibrium

Fragen zur Beziehung von Kraft, Form und Material 

l = 20 m
diameter = 40 m

tributary area of the periphery walls: √ 3/2 * a2

Vierendeelträger als Konsole Fachwerk als Konsole Durchlaufender Träger als Konsole 

Möglichkeiten der Konsolenausbildung

Idee zum Tragwerksentwurf

In der unten dargestellten Zeichnung sehen Sie links ein mögliches Spannungsfeld für einen Fachwerkknoten. Ordnen Sie die Spannungszustände I, II und III 
einem möglichen Punkt in dem rechts abgebildeten zweiachsigen Spannungsdiagramm für Stahl zu. 

y1

In der unten dargestellten Zeichnung sehen Sie links ein mögliches Spannungsfeld für einen Fachwerkknoten. Ordnen Sie die Spannungszustände I, II und III 
einem möglichen Punkt in dem rechts abgebildeten zweiachsigen Spannungsdiagramm für Stahl zu. 

Bestimmung der inneren Kräfte infolge horizontaler Einwirkung Bestimmung der inneren Kräfte

y

In der unten dargestellten Zeichnung sehen Sie links ein mögliches Spannungsfeld für einen Fachwerkknoten. Ordnen Sie die Spannungszustände I, II und III 
einem möglichen Punkt in dem rechts abgebildeten zweiachsigen Spannungsdiagramm für Stahl zu. 

Bestimmung der inneren Kräfte

Fragen zur Beziehung von Kraft, Form und Material 

1

In der unten dargestellten Zeichnung sehen Sie links ein mögliches Spannungsfeld für einen Fachwerkknoten. Ordnen Sie die Spannungszustände I, II und III 
einem möglichen Punkt in dem rechts abgebildeten zweiachsigen Spannungsdiagramm für Stahl zu. 

Bestimmung der inneren Kräfte

vergleichen Sie Variante 1 mit Variante 2: Welche Konsequenz hat die Änderung der Form auf den inneren Kräfteverlauf? 

Bei Variante 2 haben Sie gelernt, dass eine Änderung der Form eine Anpassung des inneren Kräfteverlaufs erforderlich machen kann. Nennen Sie weitere 
Gründe, wieso ein anderer innerer Kräfteverlauf entwickelt werden könnte. Stellt der entwickelte innere Kräfteverlauf die exakte Lage der wirklich verlaufenden 
inneren Kräfte dar? 

magnitude of the forces in the columns? with help of force diagrams

vergleichen Sie Variante 1 mit Variante 2: Welche Konsequenz hat die Änderung der Form auf den inneren Kräfteverlauf? 

Bestimmung der inneren Kräfte infolge horizontaler Einwirkung 

1

Dreidimensionaler qualitativer Kräfteverlauf Dreidimensionaler qualitativer Kräfteverlauf 

1

Tragwerksentwurf III - EX1: Steel

3

2

Conceptual Design

Tragwerksentwurf III - EX1: Steel

Structural Design 
(considering vertical forces)

Structural Design 
(considering 
vertical + horizontal forces)

Discuss the stability of the structure under the horizontal forces applied to the upper slab.  
The sketch below shows one of the possible solutions assuring the stability of the structure under horizontal forces applied alos to the upper slab . Demonstrate 
a possible force flow in the structure under the applied horizontal force on the upper slab. Verwenden Sie die Farben rot für Zug, blau für Druck und grün für 
die Auflagerkräfte. 

2. Qualitatives Gleichgewicht

Bestimmen Sie die Querschnittsfläche von den diagonalen Elementen auf Zug. Es werden runde Kabel mit Vollprofil verwendet.  

Tragwerksentwurf III - EX2: Reinforced concrete
Horizontal Forces

Tragwerksentwurf III - EX1: Steel

Axonometrie

Tragwerksentwurf III - EX2: Reinforced concrete Tragwerksentwurf III - EX2: Reinforced concrete

Tragwerksentwurf III - EX1: Steel

Tragwerksentwurf III - EX2: Reinforced concrete Tragwerksentwurf III - EX2: Reinforced concrete Tragwerksentwurf III - EX2: Reinforced concrete

Conceptual Design

Tragwerksentwurf III - EX2: Reinforced concrete Tragwerksentwurf III - EX2: Reinforced concrete

AxonometriePlan Plan Axonometrie Plan

Nutzlasten: (Verkaufsraum)
surface: 8*8=64 m2
5.0 kN/m2* 64m2= 320 kN

1

1

5

With the maximum value for the slenderness ℓ/h of a steel girder of 20(from script TWE II, table 14.1), 
a girder height of at least 400 mm results for a span of 8 m : an IPE 200 profile with a height of 400 mm 
is selected. The specific load of this beam is 66 kg/m. (equilibrium website /Stahlprofile /page (IPE).

3

10

1

Stab 5 = 4.1cm = 205 kN

1

Gegeben ist folgende architektonische Randbedingung: a space for a coffee stop should be built on a platform of 8*8 meter and 4 meter above the level of the 
platform, in order to use the ground floor as a shletred space for the clients of the the coffee stop.  In the corner of this platform there are 3 steps, preventing the 
building to have a colomn there. The final project should rest on colomns on the other 3 corners. 

finding the tributary area of the walls and columns

Sie entscheiden sich, im Mediageschoss Wände zu installieren und diese zu nutzen, um eine Reduktion der Spannweite zu erreichen und somit die Höhe von 
Zwischendecke und Dachkonstruktion zu reduzieren. In den folgenden Aufgaben entwickeln und analysieren Sie verschiedene Varianten zu dieser Entscheidung. 

Idee zum Tragwerksentwurf 

Die Tabelle auf Seite 1 des Anhangs «Lasten und Kennwerte» gibt Richtwerte für die Schlankheit von Tragwerken an. Im Folgenden sind drei unterschiedliche erste 
Überlegungen für das Tragwerk von Zwischendecke und Dachkonstruktion dargestellt. Überprüfen Sie mit Hilfe der beschriebenen Tabelle, ob diese ersten 
Überlegungen die architektonischen Randbedingungen erfüllen könnten. 

Grobe Vorbemessung 

Gegeben ist folgende architektonische Randbedingung: Ein Gebäude darf eine maximale Höhe von 10 Meter nicht überschreiten. Im Erdgeschoss befindet sich ein 
stützenfreier Veranstaltungsraum mit einer minimalen Höhe von 5 Metern, darüber ein Geschoss für Medienvertreter mit möglichst flexiblem Grundriss und einer 
minimalen Höhe von 3 Metern. Die Höhe von Zwischendecke und Dachkonstruktion ist dementsprechend auf maximal 1 Meter eingeschränkt. 

Die Übungen in Tragwerksentwurf III vertiefen die Beziehung zwischen Kraft, Form und Material mit Hilfe der grafischen Statik. Diese Übung 
fokussiert auf die Betrachtung von dreidimensionalen Tragwerken aus Stahl. Hierbei steht die Betrachtung des globalen Gleichgewichts des Tragwerks 
im Mittelpunkt. Verschiedene Varianten des Tragwerks unter Einbezug der tragwerksrelevanten Eigenschaften von Stahl werden entwickelt und 
analysiert. 

Als direkt weiterführende Information wird folgende Literatur empfohlen: 
.        Skript zu «Tragwerksentwurf III-IV», Seite 27 - 40: Erläuterungen zum Konstruieren in Stahl 
.        Skript zu «Tragwerksentwurf III-IV», Seite 95 - 107: Erläuterungen zur dreidimensionalen Raumbildung in Stahl 
.        Skript zu «Tragwerksentwurf III-IV», Seite 155 - 163: Materialanhang zum Baustahl 
.        Faustformel, Seite 75 - 79: Erläuterungen zum Werkstoff Stahl 
.        Faustformel, Seite 131 - 133: Erläuterungen zum Kräfteverlauf in Scheiben mit Öffnungen 

Lernziel 

Architektonische Randbedingungen 

Architektonische Randbedingungen 

Lernziel 

Die Übungen in Tragwerksentwurf III vertiefen die Beziehung zwischen Kraft, Form und Material mit Hilfe der grafischen Statik. Diese Übung 
fokussiert auf die Betrachtung von dreidimensionalen Tragwerken aus Stahl. Hierbei steht die Betrachtung des globalen Gleichgewichts des Tragwerks 
im Mittelpunkt. Verschiedene Varianten des Tragwerks unter Einbezug der tragwerksrelevanten Eigenschaften von Stahl werden entwickelt und 
analysiert. 

Als direkt weiterführende Information wird folgende Literatur empfohlen: 
.        Skript zu «Tragwerksentwurf III-IV», Seite 27 - 40: Erläuterungen zum Konstruieren in Stahl 
.        Skript zu «Tragwerksentwurf III-IV», Seite 95 - 107: Erläuterungen zur dreidimensionalen Raumbildung in Stahl 
.        Skript zu «Tragwerksentwurf III-IV», Seite 155 - 163: Materialanhang zum Baustahl 
.        Faustformel, Seite 75 - 79: Erläuterungen zum Werkstoff Stahl 
.        Faustformel, Seite 131 - 133: Erläuterungen zum Kräfteverlauf in Scheiben mit Öffnungen 

Architektonische Randbedingungen 

Lernziel 

Die Übungen in Tragwerksentwurf III vertiefen die Beziehung zwischen Kraft, Form und Material mit Hilfe der grafischen Statik. Diese Übung 
fokussiert auf die Betrachtung von dreidimensionalen Tragwerken aus Stahl. Hierbei steht die Betrachtung des globalen Gleichgewichts des Tragwerks 
im Mittelpunkt. Verschiedene Varianten des Tragwerks unter Einbezug der tragwerksrelevanten Eigenschaften von Stahl werden entwickelt und 
analysiert. 

Als direkt weiterführende Information wird folgende Literatur empfohlen: 
.        Skript zu «Tragwerksentwurf III-IV», Seite 27 - 40: Erläuterungen zum Konstruieren in Stahl 
.        Skript zu «Tragwerksentwurf III-IV», Seite 95 - 107: Erläuterungen zur dreidimensionalen Raumbildung in Stahl 
.        Skript zu «Tragwerksentwurf III-IV», Seite 155 - 163: Materialanhang zum Baustahl 
.        Faustformel, Seite 75 - 79: Erläuterungen zum Werkstoff Stahl 
.        Faustformel, Seite 131 - 133: Erläuterungen zum Kräfteverlauf in Scheiben mit Öffnungen 
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Step 6: Copy the perpendicular line and place it  
through the corner of the text margin which is  
more near to the dimension line. Then, move 
the  text box to the dimension line keeping the 
center  of the box on the first perperdicular. 
Then group  the text and the dimension line.
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2.3 mm text Arial Narrow 
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γExternal force, 1 mm distance to structure / forces
Support forces, use margin symbol support

support force is 1.5 cm long, but in case it its represented in 
horizontal and vertical components it is relatively 
related to the magnitude

Uniformly distributed load: 0.5 cm and arrowhead 2mm

Resultant Force: 2 cm long and arrowhead 4.5 mm

External point force and support force: 1.5 cm long and arrowhead 3.5 mm
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node numbers (Roman) (I,II, etc) from the library.
if possible, place the node number to the right of the 
node also if possible below the node otherwise use your 
eye.

Position of arrowheads

element / subsystem numbers, from library. always in the center of the line
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Notation - Form Diagram

Arrows & Arrowheads - Lengths

Notation - Force Diagram
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Cremona- Construction without notation
only external forces..full arrow head

Cremona- Construction without notation
inner forces always precise without 
arrowhead,  external with an offset of 1.0 mm 
and with half arrow heads when internal eq is 
also shown

Cremona- Construction with notation
external eq..corner point of name goes to the center of the line

Dimensioning

Cremona- Construction with notation
internal eq..offset from inner to external 1.5 mm
Node number goes to barycenter of the triangle

Case 1: vertical forces --> name always on the right side of the force, in the center
pick text from the library!

Case 2: diagonal forces --> name always in the interior of the structure. 
Corner point in the center of the arrow. 
pick text from the library!
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Step 2: manually adapt it to the line of the drawing by 
rotating and streching one of its sides.
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Step 1: Pick the dimension from the library Step 3: separate the line of the dimension from 
drawing line a distance of 3.6 mm. 

Step 4: Pick the text box from the library which 
fits to the text you wish to write and modify the text

440 kN

Step 5: Ungroup and erase the old text.
Build a perpendicular line through the mid point 
of the dimension line and place the center of the text on it.

Point types - hinges / selected points / resulting points
A hinge is a hinge --cicrle with no hatch
A choosen geometric point is a thin black circle with grey hatch
A resulting point is black point
---> take them from the library

Free-Body diagram
In case you draw a free body diagram, make the lines of the bars manually thicker--> 0.35 mm

Dimensioning

Please add the units (m) (mm) like in the following way.

25 m or 25.12 m
250 mm or 25 cm
25.1 cm or 251 mm

example: 

H

III

II

I

= 400 kN

III

II

I

H

intersection point --> result
point selected on the closing string

Force 0.28 mm 
Bar 0.35 mm

Force- change line properties 0.28 mm
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In the drawing below, a possible connection detail attaching the tension structs to the compression elements is shown. Determine a possible internal forceflow for the  
given external load case and draw its associated force diagram.

In the following, the connection detail is designed in a similar manner with the sole difference of an increased attachement distance of the tension struts with respect to 
the corner. Adapt the internal forceflow to the new geometry and draw the associated force diagram. Then, compare both design variations with respect to their force 
flow. Which of the variations is more advantageous and why?

Construction details built from steel

Excentric connection of tension struts to compression elements

Centric connection of tension struts to compression elements

Axonometry

Task 1

1b

1a

Detail: tension strut connected compression element

Connection detail

Connection detail

Vertical section Force diagram (1cm=200kN)

Force diagram (1cm=200kN)Vertical section
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Analysis and developement of construction details
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finding the tributary area of the walls and columns

Idee zum Tragwerksentwurf

Grobe Vorbemessung

Die Übungen in Tragwerksentwurf III vertiefen die Beziehung zwischen Kraft, Form und Material mit Hilfe der grafischen Statik. Diese Übung
fokussiert auf die Betrachtung von dreidimensionalen Tragwerken aus Stahl. Hierbei steht die Betrachtung des globalen Gleichgewichts des Tragwerks
im Mittelpunkt. Verschiedene Varianten des Tragwerks unter Einbezug der tragwerksrelevanten Eigenschaften von Stahl werden entwickelt und
analysiert.

Als direkt weiterführende Information wird folgende Literatur empfohlen:
.        Skript zu «Tragwerksentwurf III-IV», Seite 27 - 40: Erläuterungen zum Konstruieren in Stahl
.        Skript zu «Tragwerksentwurf III-IV», Seite 95 - 107: Erläuterungen zur dreidimensionalen Raumbildung in Stahl
.        Skript zu «Tragwerksentwurf III-IV», Seite 155 - 163: Materialanhang zum Baustahl
.        Faustformel, Seite 75 - 79: Erläuterungen zum Werkstoff Stahl
.        Faustformel, Seite 131 - 133: Erläuterungen zum Kräfteverlauf in Scheiben mit Öffnungen
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Architektonische Randbedingungen

Gegeben ist folgende architektonische Randbedingung: Ein Gebäude darf eine maximale Höhe von 10 Meter nicht überschreiten. Im Erdgeschoss befindet sich ein
stützenfreier Veranstaltungsraum mit einer minimalen Höhe von 5 Metern, darüber ein Geschoss für Medienvertreter mit möglichst flexiblem Grundriss und einer
minimalen Höhe von 3 Metern. Die Höhe von Zwischendecke und Dachkonstruktion ist dementsprechend auf maximal 1 Meter eingeschränkt.

Sie entscheiden sich, im Mediageschoss Wände zu installieren und diese zu nutzen, um eine Reduktion der Spannweite zu erreichen und somit die Höhe von
Zwischendecke und Dachkonstruktion zu reduzieren. In den folgenden Aufgaben entwickeln und analysieren Sie verschiedene Varianten zu dieser Entscheidung.

Gegeben ist folgende architektonische Randbedingung: a space for a coffee stop should be built on a platform of 8*8 meter and 4 meter above the level of the
platform, in order to use the ground floor as a shletred space for the clients of the the coffee stop.  In the corner of this platform there are 3 steps, preventing the
building to have a colomn there. The final project should rest on colomns on the other 3 corners.

Die Tabelle auf Seite 1 des Anhangs «Lasten und Kennwerte» gibt Richtwerte für die Schlankheit von Tragwerken an. Im Folgenden sind drei unterschiedliche erste
Überlegungen für das Tragwerk von Zwischendecke und Dachkonstruktion dargestellt. Überprüfen Sie mit Hilfe der beschriebenen Tabelle, ob diese ersten
Überlegungen die architektonischen Randbedingungen erfüllen könnten.
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Step 6: Copy the perpendicular line and place it
through the corner of the text margin which is
more near to the dimension line. Then, move
the  text box to the dimension line keeping the
center  of the box on the first perperdicular.
Then group  the text and the dimension line.

2.3 mm text Arial Narrow

generic security factor
unitssymbol

γ
γ = 1,35

= 1,5γ
security factor material

security factor self-weight

f

t
h

10

A

20cm

I

A'

hinge

chosen point by the designer

44moment of inertia

direction of rotation in cremona

symmetry

sliding support

density 3ρ

2N/mmgeneric strength of material

2N/mm
mthickness

depth
mwidth

length
mmm

subsystems (force elements where necessary)
III IV

support reaction force
kN

area dead load 2

kN/mlinear dead load
kN/m2

linear life load

kN

prestress force kN

internal compression force

kNinternal tension force
kN

ε
σ 2

mm/mmgeneric strain
generic stress

γExternal force, 1 mm distance to structure / forces
Support forces, use margin symbol support

Uniformly distributed load: 0.5 cm and arrowhead 2mm

Resultant Force: 2 cm long and arrowhead 4.5 mm

External point force and support force: 1.5 cm long and arrowhead 3.5 mm

node numbers (Roman) (I,II, etc) from the library.
if possible, place the node number to the right of the
node also if possible below the node otherwise use your
eye.

element / subsystem numbers, from library. always in the center of the line

Arrows & Arrowheads - Lengths

Notation - Force Diagram
Cremona- Construction without notation
only external forces..full arrow head

Cremona- Construction with notation
external eq..corner point of name goes to the center of the line

Case 1: vertical forces --> name always on the right side of the force, in the center
pick text from the library!

Case 2: diagonal forces --> name always in the interior of the structure.
Corner point in the center of the arrow.
pick text from the library!

arch

I

I

I

1/32/3

I

dimension from the library

Step 2: manually adapt it to the line of the drawing by
rotating and streching one of its sides.

Step 1: Pick the dimension from the library

Step 4: Pick the text box from the library which
fits to the text you wish to write and modify the text

Step 5: Ungroup and erase the old text.
Build a perpendicular line through the mid point
of the dimension line and place the center of the text on it.

Point types - hinges / selected points / resulting points
A hinge is a hinge --cicrle with no hatch
A choosen geometric point is a thin black circle with grey hatch
A resulting point is black point
---> take them from the library

Dimensioning

Please add the units (m) (mm) like in the following way.

25 m or 25.12 m
250 mm or 25 cm
25.1 cm or 251 mm

III

II

I
II

I

intersection point --> result

Force 0.28 mm
Bar 0.35 mm

Force- change line properties 0.28 mm

Bars - keep line properties

CS IC closing string

n

i intersection point of closing string
and line of action of resultant

geometric planes

o''

r' r''' rise point (form diagram)

trial pole (force diagram)

2

1q

timber
Roshi

Indesign pdf (task)

Roshanak
Lluis

Indesign pdf (solution)
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point selected on the closing string

q

example:

Free-Body diagram
In case you draw a free body diagram, make the lines of the bars manually thicker--> 0.35 mm

Step 3: separate the line of the dimension from
drawing line a distance of 3.6 mm.
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III

line of the drawing
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cable

Cremona- Construction without notation
inner forces always precise without
arrowhead,  external with an offset of 1.0 mm
and with half arrow heads when internal eq is
also shown

Position of arrowheads

Notation - Form Diagram

Dimensioning

support force is 1.5 cm long, but in case it its represented in
horizontal and vertical components it is relatively
related to the magnitude
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meaning 3.4 mm text Arial Narrow / subscript 2.3 mm

Text for dimensions 2 mm Arial Narrow
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With the maximum value for the slenderness ℓ/h of a steel girder of 20(from script TWE II, table 14.1),
a girder height of at least 400 mm results for a span of 8 m : an IPE 200 profile with a height of 400 mm
is selected. The specific load of this beam is 66 kg/m. (equilibrium website /Stahlprofile /page (IPE).

Snow load in Zurich: 1.2 kN/m2
roof surface= 8*8=64 m2
qsnow= 64*1.2≈ 77 kN
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surface: 8*8=64 m2
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Eigenlasten des Stahlträgers
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Design concept
Tragwerksentwurf III - EX1: Steel

Calculation of the loads
Tragwerksentwurf III - EX1: Steel

Calculation of the loads
Tragwerksentwurf III - EX1: Steel

Task 1: global equilibrium Task 1: qualitative analysis
Tragwerksentwurf III - EX1: Steel

Task 1: quantitative analysis Task 2: global equilibrium
Tragwerksentwurf III - EX1: Steel

Task 2: qualitative analysis
Tragwerksentwurf III - EX1: Steel

Task 2: quantitative analysis
Tragwerksentwurf III - EX1: Steel

Task 2: dimensioning
Tragwerksentwurf III - EX1: Steel

Conceptual Design1

Structural Design
(considering vertical forces)

1

2

Structural Design
(considering
vertical + horizontal forces)

Conceptual Design1
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2. Qualitative Equilibrium

Cantilever:

1. Global Equilibrium

Some mechanical installations are needed to be places on the roof of the building, on the corner with missing column. These installations will apply a ponctula
load of 150 kN on this corner, which will influence the behaviour of the structure. Draw a possible internal force flow and determine with the help of force
diagrams the magnitude of the forces in the structural members and at the supports for the indicated load case. Use the colours red for tension, blue for
compression and green for the support forces.

Evaluate the structure of the previous page in the case of horizontal forces. Discuss the improvements needed to be made in order to achieve the stability of the
structure under horizontal forces.
The sketch below shows one of the possible solutions. Demonstrate a possible force flow in the structure under the applied horizontal force on the lower slab.
Verwenden Sie die Farben rot für Zug, blau für Druck und grün für die Auflagerkräfte.

3D

Sie entscheiden sich, die Aufstockung als Fachwerk zu konstruieren, with a steel structure and reinforced concrete slabs. In den folgenden Aufgaben entwickeln
und analysieren Sie verschiedene Varianten zu dieser Entscheidung.
In the first step, discuss which type of vertical loads are applied to the whole structure and calculate the amount of it.

2D

2. Qualitative Equilibrium

Sie betrachten verschiedeneMöglichkeiten, wie das Tragwerk für die Aufstockung ausformuliert werden könnte.
Discuss how different possibilities of the continuous girder, Vierendeel girder and truss shown in the sketch below, can influence the weight of the structure, as well
as the spatial and architectural qualities of the building.

1. Global Equilibrium

3D 3D2D

1. Global Equilibrium

Fragen zur Beziehung von Kraft, Form und Material

l = 20 m
diameter = 40 m

tributary area of the periphery walls: √ 3/2 * a2

Fachwerk als KonsoleDurchlaufender Träger als Konsole

Möglichkeiten der Konsolenausbildung

In der unten dargestellten Zeichnung sehen Sie links ein mögliches Spannungsfeld für einen Fachwerkknoten. Ordnen Sie die Spannungszustände I, II und III
einem möglichen Punkt in dem rechts abgebildeten zweiachsigen Spannungsdiagramm für Stahl zu.

In der unten dargestellten Zeichnung sehen Sie links ein mögliches Spannungsfeld für einen Fachwerkknoten. Ordnen Sie die Spannungszustände I, II und III
einem möglichen Punkt in dem rechts abgebildeten zweiachsigen Spannungsdiagramm für Stahl zu.

Bestimmung der inneren Kräfte infolge horizontaler EinwirkungBestimmung der inneren Kräfte

In der unten dargestellten Zeichnung sehen Sie links ein mögliches Spannungsfeld für einen Fachwerkknoten. Ordnen Sie die Spannungszustände I, II und III
einem möglichen Punkt in dem rechts abgebildeten zweiachsigen Spannungsdiagramm für Stahl zu.

Bestimmung der inneren Kräfte

Fragen zur Beziehung von Kraft, Form und Material

Bestimmung der inneren Kräfte

vergleichen Sie Variante 1 mit Variante 2: Welche Konsequenz hat die Änderung der Form auf den inneren Kräfteverlauf?

Bei Variante 2 haben Sie gelernt, dass eine Änderung der Form eine Anpassung des inneren Kräfteverlaufs erforderlich machen kann. Nennen Sie weitere
Gründe, wieso ein anderer innerer Kräfteverlauf entwickelt werden könnte. Stellt der entwickelte innere Kräfteverlauf die exakte Lage der wirklich verlaufenden
inneren Kräfte dar?

vergleichen Sie Variante 1 mit Variante 2: Welche Konsequenz hat die Änderung der Form auf den inneren Kräfteverlauf?

Bestimmung der inneren Kräfte infolge horizontaler EinwirkungDreidimensionaler qualitativer Kräfteverlauf

1

3

2

Conceptual Design

Structural Design
(considering vertical forces)

Structural Design
(considering
vertical + horizontal forces)

Discuss the stability of the structure under the horizontal forces applied to the upper slab.
The sketch below shows one of the possible solutions assuring the stability of the structure under horizontal forces applied alos to the upper slab . Demonstrate
a possible force flow in the structure under the applied horizontal force on the upper slab. Verwenden Sie die Farben rot für Zug, blau für Druck und grün für
die Auflagerkräfte.

Bestimmen Sie die Querschnittsfläche von den diagonalen Elementen auf Zug. Es werden runde Kabel mit Vollprofil verwendet.

Tragwerksentwurf III - EX2: Reinforced concrete
Horizontal Forces

Tragwerksentwurf III - EX2: Reinforced concrete Tragwerksentwurf III - EX2: Reinforced concrete Tragwerksentwurf III - EX2: Reinforced concrete Tragwerksentwurf III - EX2: Reinforced concrete Tragwerksentwurf III - EX2: Reinforced concrete Tragwerksentwurf III - EX2: Reinforced concrete

AxonometriePlan Plan Axonometrie Plan

1

1

5

3

10

1

1

Axonometrie

2. Qualitatives Gleichgewicht

Tragwerksentwurf III - EX2: Reinforced concrete

Dreidimensionaler qualitativer Kräfteverlauf

magnitude of the forces in the columns? with help of force diagrams

Idee zum Tragwerksentwurf

Vierendeelträger als Konsole

3. Quantitaive Equilibrium

3. Quantitaive Equilibrium

The following axonometric drawing shows a possible structure for carrying the vertical loads calculated in the last page (as of 440 kN on each corner). Draw a
possible internal force flow and determine with the help of force diagrams the magnitude of the forces in the structural members and at the supports for the
indicated load case. Use the colours red for tension, blue for compression and green for the support forces.

In der unten dargestellten Zeichnung sehen Sie links ein mögliches Spannungsfeld für einen Fachwerkknoten. Ordnen Sie die Spannungszustände I, II und III
einem möglichen Punkt in dem rechts abgebildeten zweiachsigen Spannungsdiagramm für Stahl zu.
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Structural Design
(considering vertical forces)

Conceptual Design

Tragwerksentwurf III - EX1: Steel

Span:

Structural Design
(considering
vertical + horizontal forces)3

Tragwerksentwurf III - EX1: Steel
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In the following, mushroom columns are analyzed as a design solution for the structure shown above. For the given external load case, draw a qualitative force flow 
within the connection detail. Where do the largest compression stresses occur? What is the magnitude of these compression stresses? Is the concrete able to sustain the 
acting compression stresses? If not, what should be the dimensions of the column such that the concrete strength is not exceeded. For the calculations, assume column 
dimensions of 30cm x 30cm and use C30/37 concrete. It has to be noted that only the construction detail is considered here without paying attention to global effects 
such as buckling.

In the following, pyramid columns are analyzed as a design solution for the structure shown above. For the given external load case, draw a qualitative force flow within 
the connection detail. Where do the largest compression stresses occur? What is the magnitude of these compression stresses? Is the concrete able to sustain the acting 
compression stresses? If not, how could an alternative design look like such that the material strength is not exceeded. For the calculations, assume dimensions of 10cm 
x 10cm in the most narrow part and use C40/45 high strength concrete. In case you decide to use a different construction material for the detail alternative, you can 
chose a suitable material strength class.

Construction details built from reinforced concrete

Forceflow in pyramid column

Forceflow in a mushroom column 

Axonometry

Detail mushroom column

Detail pyramid column

Vertical section through column

Section through pyramid column Implementation of pyramid column

Detail: connection between column and slab

Section axis
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Gegeben ist folgende architektonische Randbedingung: a space for a coffee stop should be built on a platform of 8*8 meter and 4 meter above the level of the
platform, in order to use the ground floor as a shletred space for the clients of the the coffee stop.  In the corner of this platform there are 3 steps, preventing the
building to have a colomn there. The final project should rest on colomns on the other 3 corners.

Sie entscheiden sich, im Mediageschoss Wände zu installieren und diese zu nutzen, um eine Reduktion der Spannweite zu erreichen und somit die Höhe von
Zwischendecke und Dachkonstruktion zu reduzieren. In den folgenden Aufgaben entwickeln und analysieren Sie verschiedene Varianten zu dieser Entscheidung.

Idee zum Tragwerksentwurf

Die Tabelle auf Seite 1 des Anhangs «Lasten und Kennwerte» gibt Richtwerte für die Schlankheit von Tragwerken an. Im Folgenden sind drei unterschiedliche erste
Überlegungen für das Tragwerk von Zwischendecke und Dachkonstruktion dargestellt. Überprüfen Sie mit Hilfe der beschriebenen Tabelle, ob diese ersten
Überlegungen die architektonischen Randbedingungen erfüllen könnten.

Gegeben ist folgende architektonische Randbedingung: Ein Gebäude darf eine maximale Höhe von 10 Meter nicht überschreiten. Im Erdgeschoss befindet sich ein
stützenfreier Veranstaltungsraum mit einer minimalen Höhe von 5 Metern, darüber ein Geschoss für Medienvertreter mit möglichst flexiblem Grundriss und einer
minimalen Höhe von 3 Metern. Die Höhe von Zwischendecke und Dachkonstruktion ist dementsprechend auf maximal 1 Meter eingeschränkt.

Die Übungen in Tragwerksentwurf III vertiefen die Beziehung zwischen Kraft, Form und Material mit Hilfe der grafischen Statik. Diese Übung
fokussiert auf die Betrachtung von dreidimensionalen Tragwerken aus Stahl. Hierbei steht die Betrachtung des globalen Gleichgewichts des Tragwerks
im Mittelpunkt. Verschiedene Varianten des Tragwerks unter Einbezug der tragwerksrelevanten Eigenschaften von Stahl werden entwickelt und
analysiert.

Als direkt weiterführende Information wird folgende Literatur empfohlen:
.        Skript zu «Tragwerksentwurf III-IV», Seite 27 - 40: Erläuterungen zum Konstruieren in Stahl
.        Skript zu «Tragwerksentwurf III-IV», Seite 95 - 107: Erläuterungen zur dreidimensionalen Raumbildung in Stahl
.        Skript zu «Tragwerksentwurf III-IV», Seite 155 - 163: Materialanhang zum Baustahl
.        Faustformel, Seite 75 - 79: Erläuterungen zum Werkstoff Stahl
.        Faustformel, Seite 131 - 133: Erläuterungen zum Kräfteverlauf in Scheiben mit Öffnungen

Lernziel

Architektonische Randbedingungen

Lernziel

Die Übungen in Tragwerksentwurf III vertiefen die Beziehung zwischen Kraft, Form und Material mit Hilfe der grafischen Statik. Diese Übung
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fokussiert auf die Betrachtung von dreidimensionalen Tragwerken aus Stahl. Hierbei steht die Betrachtung des globalen Gleichgewichts des Tragwerks
im Mittelpunkt. Verschiedene Varianten des Tragwerks unter Einbezug der tragwerksrelevanten Eigenschaften von Stahl werden entwickelt und
analysiert.

Als direkt weiterführende Information wird folgende Literatur empfohlen:
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2.3 mm text Arial Narrow

meaning unitssymbol 3.4 mm text Arial Narrow / subscript 2.3 mm
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γ = 1,35
γ security factor external load

security factor self-weight
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A'

hinge

chosen point by the designer

44moment of inertia

direction of rotation in cremona
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sliding support
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II III IV nodes in diagrams (where necessary)
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resultant force
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dead load kN
kN/m

life load

prestress force kN

kN

generic force

ε
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M
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support force is 1.5 cm long, but in case it its represented in
horizontal and vertical components it is relatively
related to the magnitude

Uniformly distributed load: 0.5 cm and arrowhead 2mm

Resultant Force: 2 cm long and arrowhead 4.5 mm

Position of arrowheads

Notation - Form Diagram

Notation - Force Diagram
Cremona- Construction without notation
only external forces..full arrow head

Cremona- Construction with notation
external eq..corner point of name goes to the center of the line

Dimensioning

Case 1: vertical forces --> name always on the right side of the force, in the center
pick text from the library!

Case 2: diagonal forces --> name always in the interior of the structure.
Corner point in the center of the arrow.
pick text from the library!
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arch

I

I

I
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line of the drawing

dimension from the library

Step 4: Pick the text box from the library which
fits to the text you wish to write and modify the text

Point types - hinges / selected points / resulting points
A hinge is a hinge --cicrle with no hatch
A choosen geometric point is a thin black circle with grey hatch
A resulting point is black point
---> take them from the library

Free-Body diagram
In case you draw a free body diagram, make the lines of the bars manually thicker--> 0.35 mm

Dimensioning

25 m or 25.12 m
250 mm or 25 cm
25.1 cm or 251 mm

example:

III

I
III

II

intersection point --> result
point selected on the closing string

Force 0.28 mm
Bar 0.35 mm

Bars - keep line properties
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rise point (form diagram)
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intersection point of closing string
and line of action of resultant

o'''

S closing string
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Force- change line properties 0.28 mm

Please add the units (m) (mm) like in the following way.

II

Step 1: Pick the dimension from the library Step 3: separate the line of the dimension from
drawing line a distance of 3.6 mm.

Step 2: manually adapt it to the line of the drawing by
rotating and streching one of its sides.

Step 5: Ungroup and erase the old text.
Build a perpendicular line through the mid point
of the dimension line and place the center of the text on it.
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Cremona- Construction without notation
inner forces always precise without
arrowhead,  external with an offset of 1.0 mm
and with half arrow heads when internal eq is
also shown

Arrows & Arrowheads - Lengths

element / subsystem numbers, from library. always in the center of the line

External point force and support force: 1.5 cm long and arrowhead 3.5 mm

Cremona- Construction with notation
internal eq..offset from inner to external 1.5 mm
Node number goes to barycenter of the triangle

node numbers (Roman) (I,II, etc) from the library.
if possible, place the node number to the right of the
node also if possible below the node otherwise use your
eye.

External force, 1 mm distance to structure / forces
Support forces, use margin symbol support
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linear life load
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generic security factor

density

cable

S

II XVIII

f t    ,d

mx,d

f

VI

+

-

a1,da1

s1,d +

+ c1,d

a1,d

g1f

c1

f

r1

+

f

f

f

+

n

n

n

3

5

er

i

Tragwerksentwurf III - EX4: Masonry

max

Vertical equilibrium in new variantDesign proposal 3 Horitzontal equilibrium - variant 3

Tragwerksentwurf III - EX5: Construction Details
Reinforced concrete

Masonry MasonryConnection of column and main beam via wooden diagonals

9

II

7

Tragwerksentwurf III - EX3: Timber

175 kN

B

Homework
(solution)

2

1

B

606 kN

719 kN

A

A

B

B

N

N

D=200 KN

1

D

D

N

N

N

N

Timber

2

Tragwerksentwurf III - EX5: Construction DetailsTragwerksentwurf III - EX5: Construction Details
Connection of column and main beam via steel plate

Tragwerksentwurf III - EX5: Construction Details
Connection of column and main beam via steel plate

σ

Tragwerksentwurf III - EX3: Timber

2

Lageplan : untere Dachebene

Kräfteplan (1cm:200 kN)

projection of elevation A-B'-C

Lageplan : obere Dachebene

masonry
jacopo

steel
roshi

upper slab

lower slab

3D

N
N

2

P

N

P

P

1

P2

8

7

6

8N

N

N

J

N

G=200 KN

C

3

F

1

3
3

3

3

D=200 kN

1

J

J

11'095 kN

142 kN

A

82 kN

1

2

2
A C

1

5kN

2

G=200 KN

R/4

R/2

F=35kN

F/4

A=12'000 kN

H= 300 kN

533 kN

F=35kN

533 kN

376 kN

533 kN

376 kN

376 kN

533 kN

F/4

qq

5kN

g g g

F=35kN

376 kN

H= 300 kN

qq

533 kN

82 kN

q

16 kN

R = 40kN

g

4

H= 300 kN

R = 40kN

H= 300 kN

D

H= 300 kN

D

F

C

F

N

20kN

N    = 3175 kN

2

N

2

N

F/4

3820

11460 kN
3820

1

2

11460 kN

A    =220 kN

A =        +         = 440 + 440 = 880 kN

A    =220 kN

20kN

A

5kN

440 kN

440 kN440 kN 440 kN

440 kN

440 kN

440 kN

440 kN

440 kN

1     1

440 kN440 kN

440 kN
440 kN

440 kN

H2

A

= 400 kN= 400 kNH

H= 400 kN

2000 kN

A= 2000 kN + 2000 kN = 4000 kN

B=8000 kN

H

G

1

F

4

F

H

F

FF

B=8000 kN

1

= 400 kN

160 kN

440 kN

440 kN

F A

F

R=8000 kN

F

B

R

B

F

B

BB

F

B

F

q

Q

B

1

2

2

6

N

C

2

P

P

2

P

N

4

9

N

R

7

2

R

4

R

N

N

4

8

Q

Q

Q

vBA

H

v

G

H

2

N

9

G

2

F

4

G

N

F

9

E

E

D

D

DB F

3

1

4

H

3

G

F

4

3

E

E

D
2

A

6

3

B

1

6

4

A

77

B

C
1

C

C

2

1

C

1

2

1

1

1

1

R

A

R

A

F/2=300 kN

1

9

2

F

440 kN

R=160 kN

A

2     2

A   =220 kN

A   =220 kN

A  +D   =440 kN

A  =B   =220 kN1     1

2     2A  +B   =440 kN

D

B

D

A

C

C

440 kN

440 kN

R

R

H

B+C

I

P

G

P=400 kN

440 kN

B

A/2= 4000 kN

A= 2*4000 kN= 8000 kN

A

A+B

2

1

1

440 kN 2

C    +D  =440 kN

440 kN 440 kN

B

F

440 kN

220 kN

G

H

H= 400 kN

N

1

5kN

A    =220 kN

5kN

5kN

1

H

5kN

1

1

2

2

H

1/4 (H  ) 1/4 (H  )

R=160 kN

10kN

1.5kN

7kN 6kN 10kN1.5kN1.5kN 6kN 7kN10kN1.5kN

10kN 1.5kN

10kN7kN 6kN 10kN7kN 1.5kN 6kN

1.5kN1.5kN

10kN

1.5kN 1.5kN

B    +C  =440 kN

Lluis

detail
3D

Roshanak

steel
3D

0.1*R = 4kN

2

7kN

H

= 400 kN

A

5kN

C

H

A

1

F

1

6kN

10kN 10kN

10kN

6kN

7kN

7kN

6kN

1.5kN

6kN

K

1.5kN

I

1.5kN

H

6kN7kN

6kN7kN

6kN

1.5kN

1.5kN

10kN

1.5kN

C

5kN

B1

B1 (Einwirkung)

10kN

C

H

5kN

5kN

5kN

B1

B1 (Einwirkung)

A (Einwirkung)

B1

10kN

5kN

A (Einwirkung)

B

H

B

H

5kN

H= 400 kN

H=400 kN

K

I

440 kN

F2

150 kN

FB'=880 kN

F3=220 kN

440 kN

80 kN

F/2=300 kN

440 kN

440 kN

F3

F1

FA

F2=440 kN

2

440 kN

F

F/2=220 kN

H

2kN

10kN

2kN

J=230 kN

P

6kN

H=400 kN

N

D

G=200 KN

J

GF

10kN

M

D

H = 400 kN

I

LJ

D=200 KN

1

376 kN

113 m * 66 kg/m≈ 7500 kg=75 kN

Areq = Nd / fs,d = 820 ‘000 N / (235/1.05) N/mm2 = 820 ‘000 / 246 = 3330 mm2
A = r2 · π = 3330
r=32 mm

specific weight of reinforced concrete of 25 kN / m 3.
Slab's surface: 8*8=64 m2
2 slabs * 64 m2=128 m2
Total weight of slabs (thickness of 0.25 m): 128 m *0.25 m*25 KN/m3=800 KN

Eigenlasten des reinforced concrete slabs

Snow load in Zurich: 1.2 kN/m2
roof surface= 8*8=64 m2
qsnow= 64*1.2≈ 77 kN

q = 1.5 * 320 = 480 kN

Eigenlasten des Stahlträgers

Nutzlasten: (Verkaufsraum)
surface: 8*8=64 m2
5.0 kN/m2* 64m2= 320 kN

With the maximum value for the slenderness ℓ/h of a steel girder of 20(from script TWE II, table 14.1),
a girder height of at least 400 mm results for a span of 8 m : an IPE 200 profile with a height of 400 mm
is selected. The specific load of this beam is 66 kg/m. (equilibrium website /Stahlprofile /page (IPE).
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2 Structural Design
(considering vertical forces)
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Span: Cantilever:

1. Global Equilibrium

The following axonometric drawing shows a possible structure for carrying the vertical loads calculated in the last page (as of 440 kN on each corner). Draw a
possible internal force flow and determine with the help of force diagrams the magnitude of the forces in the structural members and at the supports for the
indicated load case. Use the colours red for tension, blue for compression and green for the support forces.

Evaluate the structure of the previous page in the case of horizontal forces. Discuss the improvements needed to be made in order to achieve the stability of the
structure under horizontal forces.
The sketch below shows one of the possible solutions. Demonstrate a possible force flow in the structure under the applied horizontal force on the lower slab.
Verwenden Sie die Farben rot für Zug, blau für Druck und grün für die Auflagerkräfte.

3D

3. Quantitaive Equilibrium

2D

2. Qualitative Equilibrium

Sie betrachten verschiedeneMöglichkeiten, wie das Tragwerk für die Aufstockung ausformuliert werden könnte.
Discuss how different possibilities of the continuous girder, Vierendeel girder and truss shown in the sketch below, can influence the weight of the structure, as well
as the spatial and architectural qualities of the building.

1. Global Equilibrium

3D 3D

3. Quantitaive Equilibrium

1. Global Equilibrium

Fragen zur Beziehung von Kraft, Form und Material

Vierendeelträger als Konsole Fachwerk als KonsoleDurchlaufender Träger als Konsole

Idee zum Tragwerksentwurf

In der unten dargestellten Zeichnung sehen Sie links ein mögliches Spannungsfeld für einen Fachwerkknoten. Ordnen Sie die Spannungszustände I, II und III
einem möglichen Punkt in dem rechts abgebildeten zweiachsigen Spannungsdiagramm für Stahl zu.

In der unten dargestellten Zeichnung sehen Sie links ein mögliches Spannungsfeld für einen Fachwerkknoten. Ordnen Sie die Spannungszustände I, II und III
einem möglichen Punkt in dem rechts abgebildeten zweiachsigen Spannungsdiagramm für Stahl zu.

Bestimmung der inneren Kräfte infolge horizontaler EinwirkungBestimmung der inneren Kräfte

In der unten dargestellten Zeichnung sehen Sie links ein mögliches Spannungsfeld für einen Fachwerkknoten. Ordnen Sie die Spannungszustände I, II und III
einem möglichen Punkt in dem rechts abgebildeten zweiachsigen Spannungsdiagramm für Stahl zu.

Bestimmung der inneren Kräfte

In der unten dargestellten Zeichnung sehen Sie links ein mögliches Spannungsfeld für einen Fachwerkknoten. Ordnen Sie die Spannungszustände I, II und III
einem möglichen Punkt in dem rechts abgebildeten zweiachsigen Spannungsdiagramm für Stahl zu.

Bestimmung der inneren Kräfte

vergleichen Sie Variante 1 mit Variante 2: Welche Konsequenz hat die Änderung der Form auf den inneren Kräfteverlauf?

magnitude of the forces in the columns? with help of force diagrams

vergleichen Sie Variante 1 mit Variante 2: Welche Konsequenz hat die Änderung der Form auf den inneren Kräfteverlauf?

Bestimmung der inneren Kräfte infolge horizontaler EinwirkungDreidimensionaler qualitativer Kräfteverlauf

1

3

2

Conceptual Design

Structural Design
(considering vertical forces)

Structural Design
(considering
vertical + horizontal forces)

2. Qualitatives Gleichgewicht

Bestimmen Sie die Querschnittsfläche von den diagonalen Elementen auf Zug. Es werden runde Kabel mit Vollprofil verwendet.

Tragwerksentwurf III - EX2: Reinforced concrete

Axonometrie
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AxonometriePlan Plan Axonometrie Plan
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1
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1

1

Tragwerksentwurf III - EX2: Reinforced concrete
Horizontal Forces

Discuss the stability of the structure under the horizontal forces applied to the upper slab.
The sketch below shows one of the possible solutions assuring the stability of the structure under horizontal forces applied alos to the upper slab . Demonstrate
a possible force flow in the structure under the applied horizontal force on the upper slab. Verwenden Sie die Farben rot für Zug, blau für Druck und grün für
die Auflagerkräfte.

Dreidimensionaler qualitativer Kräfteverlauf

Fragen zur Beziehung von Kraft, Form und Material

Möglichkeiten der Konsolenausbildung

l = 20 m
diameter = 40 m

tributary area of the periphery walls: √ 3/2 * a2

2D

Sie entscheiden sich, die Aufstockung als Fachwerk zu konstruieren, with a steel structure and reinforced concrete slabs. In den folgenden Aufgaben entwickeln
und analysieren Sie verschiedene Varianten zu dieser Entscheidung.
In the first step, discuss which type of vertical loads are applied to the whole structure and calculate the amount of it.

Some mechanical installations are needed to be places on the roof of the building, on the corner with missing column. These installations will apply a ponctula
load of 150 kN on this corner, which will influence the behaviour of the structure. Draw a possible internal force flow and determine with the help of force
diagrams the magnitude of the forces in the structural members and at the supports for the indicated load case. Use the colours red for tension, blue for
compression and green for the support forces.

2. Qualitative Equilibrium
2

Structural Design
(considering
vertical + horizontal forces)

Structural Design
(considering vertical forces)

Bei Variante 2 haben Sie gelernt, dass eine Änderung der Form eine Anpassung des inneren Kräfteverlaufs erforderlich machen kann. Nennen Sie weitere
Gründe, wieso ein anderer innerer Kräfteverlauf entwickelt werden könnte. Stellt der entwickelte innere Kräfteverlauf die exakte Lage der wirklich verlaufenden
inneren Kräfte dar?

Task 1: global equilibrium

Structural Design
(considering vertical forces)
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Task 1: quantitative analysis
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For the wooden structure above, a connection detail using a steel plate as a load transfering element between main beam and column is analyzed. For the given external 
load case, draw a qualitative force flow within the connection detail. What maximum load can be taken with this construction detail? Note that in this case, normal GLT 
GL24h is used as construction material. The main beam has a width of 20cm, the column has a surface area of 20cm x 20cm and the length of the steel plate is 60cm.

For the wooden structure above, another connection detail using additional diagonals made from GL24h is analyzed. For the given external load case, draw a possible 
qualitative force flow within the connection detail. The grey lines indicate the location of the resultants in each of the stress fields. Assign stress states I to IV of the 
biaxial stress diagram to the corresponding points in the stress fields of the connection. Which points show potential weak links in the system? 

Construction details built from wood

Connection between column and main beam using wooden diagonals

Connection between column and main beam using steel plate

Axonometry

Task 3

3b

3a

Detail: Connection between column and main beam 

Steel plate

Main GLT beam from GL24h 
(20cm x 40cm)

GLT column from GL24h 
(20cm x 20cm)

Connection detail

Connection detail

Section of the connection

Section of the connection Biaxial Stress diagram for Wood

Help:
Skript «TE 3/4» 
p. 174

Help:
Skript «TE 3/4» 
S. 49, 54
Vorlesung TE 3 
«Mauerwerk», 
S.93, 94

p. 3 / 4

Analysis and developement of construction details

Structural design III - HS 2022EX 5 Name:



H = 400 kN

Areq = Nd / fs,d = 820 ‘000 N / (235/1.05) N/mm2 = 820 ‘000 / 246 = 3330 mm2 
A = r2 · π = 3330 
r=32 mm

specific weight of reinforced concrete of 25 kN / m 3.
Slab's surface: 8*8=64 m2
2 slabs * 64 m2=128 m2
Total weight of slabs (thickness of 0.25 m): 128 m *0.25 m*25 KN/m3=800 KN

Eigenlasten des reinforced concrete slabs

Snow load in Zurich: 1.2 kN/m2
roof surface= 8*8=64 m2
qsnow= 64*1.2≈ 77 kN

q = 1.5 * 320 = 480 kN

g = 1.35  (800 reinforced concrete+ 75 steel ) ≈ 1200 KN
113 m * 66 kg/m≈ 7500 kg=75 kN
Eigenlasten des Stahlträgers
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2 Structural Design 
(considering vertical forces)

Structural Design 
(considering 
vertical + horizontal forces)

Design concept Calculation of the loads
Tragwerksentwurf III - EX1: Steel

Calculation of the loads Task 1: global equilibrium
Tragwerksentwurf III - EX1: Steel

Task 1: qualitative analysis
Tragwerksentwurf III - EX1: Steel

Task 1: quantitative analysis
Tragwerksentwurf III - EX1: Steel

Task 2: global equilibrium Task 2: qualitative analysis
Tragwerksentwurf III - EX1: Steel

Task 2: quantitative analysis Task 2: dimensioning
Tragwerksentwurf III - EX1: Steel

Conceptual Design

Structural Design 
(considering vertical forces)

Conceptual Design1

2

Structural Design 
(considering 
vertical + horizontal forces)

Structural Design 
(considering vertical forces)

Conceptual Design
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z1

x1 2. Qualitative Equilibrium

Span: Cantilever:

1. Global Equilibrium

Some mechanical installations are needed to be places on the roof of the building, on the corner with missing column. These installations will apply a ponctula 
load of 150 kN on this corner, which will influence the behaviour of the structure. Draw a possible internal force flow and determine with the help of force 
diagrams the magnitude of the forces in the structural members and at the supports for the indicated load case. Use the colours red for tension, blue for 
compression and green for the support forces. 

The following axonometric drawing shows a possible structure for carrying the vertical loads calculated in the last page (as of 440 kN on each corner). Draw a 
possible internal force flow and determine with the help of force diagrams the magnitude of the forces in the structural members and at the supports for the 
indicated load case. Use the colours red for tension, blue for compression and green for the support forces. 

Evaluate the structure of the previous page in the case of horizontal forces. Discuss the improvements needed to be made in order to achieve the stability of the 
structure under horizontal forces.  
The sketch below shows one of the possible solutions. Demonstrate a possible force flow in the structure under the applied horizontal force on the lower slab. 
Verwenden Sie die Farben rot für Zug, blau für Druck und grün für die Auflagerkräfte. 

3D

Sie entscheiden sich, die Aufstockung als Fachwerk zu konstruieren, with a steel structure and reinforced concrete slabs. In den folgenden Aufgaben entwickeln 
und analysieren Sie verschiedene Varianten zu dieser Entscheidung. 
In the first step, discuss which type of vertical loads are applied to the whole structure and calculate the amount of it. 

3. Quantitaive Equilibrium

2D

2. Qualitative Equilibrium

Sie betrachten verschiedeneMöglichkeiten, wie das Tragwerk für die Aufstockung ausformuliert werden könnte. 
Discuss how different possibilities of the continuous girder, Vierendeel girder and truss shown in the sketch below, can influence the weight of the structure, as well 
as the spatial and architectural qualities of the building. 

1. Global Equilibrium

3D 3D2D

3. Quantitaive Equilibrium

1. Global Equilibrium

Fragen zur Beziehung von Kraft, Form und Material 

l = 20 m
diameter = 40 m

tributary area of the periphery walls: √ 3/2 * a2

Vierendeelträger als Konsole Fachwerk als Konsole Durchlaufender Träger als Konsole 

Möglichkeiten der Konsolenausbildung

Idee zum Tragwerksentwurf

In der unten dargestellten Zeichnung sehen Sie links ein mögliches Spannungsfeld für einen Fachwerkknoten. Ordnen Sie die Spannungszustände I, II und III 
einem möglichen Punkt in dem rechts abgebildeten zweiachsigen Spannungsdiagramm für Stahl zu. 

y1

In der unten dargestellten Zeichnung sehen Sie links ein mögliches Spannungsfeld für einen Fachwerkknoten. Ordnen Sie die Spannungszustände I, II und III 
einem möglichen Punkt in dem rechts abgebildeten zweiachsigen Spannungsdiagramm für Stahl zu. 

Bestimmung der inneren Kräfte infolge horizontaler Einwirkung Bestimmung der inneren Kräfte

y

In der unten dargestellten Zeichnung sehen Sie links ein mögliches Spannungsfeld für einen Fachwerkknoten. Ordnen Sie die Spannungszustände I, II und III 
einem möglichen Punkt in dem rechts abgebildeten zweiachsigen Spannungsdiagramm für Stahl zu. 

Bestimmung der inneren Kräfte

Fragen zur Beziehung von Kraft, Form und Material 

1

In der unten dargestellten Zeichnung sehen Sie links ein mögliches Spannungsfeld für einen Fachwerkknoten. Ordnen Sie die Spannungszustände I, II und III 
einem möglichen Punkt in dem rechts abgebildeten zweiachsigen Spannungsdiagramm für Stahl zu. 

Bestimmung der inneren Kräfte

vergleichen Sie Variante 1 mit Variante 2: Welche Konsequenz hat die Änderung der Form auf den inneren Kräfteverlauf? 

Bei Variante 2 haben Sie gelernt, dass eine Änderung der Form eine Anpassung des inneren Kräfteverlaufs erforderlich machen kann. Nennen Sie weitere 
Gründe, wieso ein anderer innerer Kräfteverlauf entwickelt werden könnte. Stellt der entwickelte innere Kräfteverlauf die exakte Lage der wirklich verlaufenden 
inneren Kräfte dar? 

magnitude of the forces in the columns? with help of force diagrams

vergleichen Sie Variante 1 mit Variante 2: Welche Konsequenz hat die Änderung der Form auf den inneren Kräfteverlauf? 

Bestimmung der inneren Kräfte infolge horizontaler Einwirkung 

1

Dreidimensionaler qualitativer Kräfteverlauf Dreidimensionaler qualitativer Kräfteverlauf 

1

Tragwerksentwurf III - EX1: Steel

3

2

Conceptual Design

Tragwerksentwurf III - EX1: Steel

Structural Design 
(considering vertical forces)

Structural Design 
(considering 
vertical + horizontal forces)

Discuss the stability of the structure under the horizontal forces applied to the upper slab.  
The sketch below shows one of the possible solutions assuring the stability of the structure under horizontal forces applied alos to the upper slab . Demonstrate 
a possible force flow in the structure under the applied horizontal force on the upper slab. Verwenden Sie die Farben rot für Zug, blau für Druck und grün für 
die Auflagerkräfte. 

2. Qualitatives Gleichgewicht

Bestimmen Sie die Querschnittsfläche von den diagonalen Elementen auf Zug. Es werden runde Kabel mit Vollprofil verwendet.  

Tragwerksentwurf III - EX2: Reinforced concrete
Horizontal Forces

Tragwerksentwurf III - EX1: Steel

Axonometrie

Tragwerksentwurf III - EX2: Reinforced concrete Tragwerksentwurf III - EX2: Reinforced concrete

Tragwerksentwurf III - EX1: Steel

Tragwerksentwurf III - EX2: Reinforced concrete Tragwerksentwurf III - EX2: Reinforced concrete Tragwerksentwurf III - EX2: Reinforced concrete

Conceptual Design

Tragwerksentwurf III - EX2: Reinforced concrete Tragwerksentwurf III - EX2: Reinforced concrete

AxonometriePlan Plan Axonometrie Plan

Nutzlasten: (Verkaufsraum)
surface: 8*8=64 m2
5.0 kN/m2* 64m2= 320 kN

1

1

5

With the maximum value for the slenderness ℓ/h of a steel girder of 20(from script TWE II, table 14.1), 
a girder height of at least 400 mm results for a span of 8 m : an IPE 200 profile with a height of 400 mm 
is selected. The specific load of this beam is 66 kg/m. (equilibrium website /Stahlprofile /page (IPE).

3

10

1

Stab 5 = 4.1cm = 205 kN

1

Gegeben ist folgende architektonische Randbedingung: a space for a coffee stop should be built on a platform of 8*8 meter and 4 meter above the level of the 
platform, in order to use the ground floor as a shletred space for the clients of the the coffee stop.  In the corner of this platform there are 3 steps, preventing the 
building to have a colomn there. The final project should rest on colomns on the other 3 corners. 

finding the tributary area of the walls and columns

Sie entscheiden sich, im Mediageschoss Wände zu installieren und diese zu nutzen, um eine Reduktion der Spannweite zu erreichen und somit die Höhe von 
Zwischendecke und Dachkonstruktion zu reduzieren. In den folgenden Aufgaben entwickeln und analysieren Sie verschiedene Varianten zu dieser Entscheidung. 

Idee zum Tragwerksentwurf 

Die Tabelle auf Seite 1 des Anhangs «Lasten und Kennwerte» gibt Richtwerte für die Schlankheit von Tragwerken an. Im Folgenden sind drei unterschiedliche erste 
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through the corner of the text margin which is  
more near to the dimension line. Then, move 
the  text box to the dimension line keeping the 
center  of the box on the first perperdicular. 
Then group  the text and the dimension line.
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2.3 mm text Arial Narrow 
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Support forces, use margin symbol support

support force is 1.5 cm long, but in case it its represented in 
horizontal and vertical components it is relatively 
related to the magnitude

Uniformly distributed load: 0.5 cm and arrowhead 2mm

Resultant Force: 2 cm long and arrowhead 4.5 mm

External point force and support force: 1.5 cm long and arrowhead 3.5 mm
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node numbers (Roman) (I,II, etc) from the library.
if possible, place the node number to the right of the 
node also if possible below the node otherwise use your 
eye.

Position of arrowheads

element / subsystem numbers, from library. always in the center of the line
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Notation - Form Diagram

Arrows & Arrowheads - Lengths

Notation - Force Diagram
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Cremona- Construction without notation
only external forces..full arrow head

Cremona- Construction without notation
inner forces always precise without 
arrowhead,  external with an offset of 1.0 mm 
and with half arrow heads when internal eq is 
also shown

Cremona- Construction with notation
external eq..corner point of name goes to the center of the line

Dimensioning

Cremona- Construction with notation
internal eq..offset from inner to external 1.5 mm
Node number goes to barycenter of the triangle

Case 1: vertical forces --> name always on the right side of the force, in the center
pick text from the library!

Case 2: diagonal forces --> name always in the interior of the structure. 
Corner point in the center of the arrow. 
pick text from the library!
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Step 2: manually adapt it to the line of the drawing by 
rotating and streching one of its sides.
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Step 1: Pick the dimension from the library Step 3: separate the line of the dimension from 
drawing line a distance of 3.6 mm. 

Step 4: Pick the text box from the library which 
fits to the text you wish to write and modify the text

440 kN

Step 5: Ungroup and erase the old text.
Build a perpendicular line through the mid point 
of the dimension line and place the center of the text on it.

Point types - hinges / selected points / resulting points
A hinge is a hinge --cicrle with no hatch
A choosen geometric point is a thin black circle with grey hatch
A resulting point is black point
---> take them from the library

Free-Body diagram
In case you draw a free body diagram, make the lines of the bars manually thicker--> 0.35 mm

Dimensioning

Please add the units (m) (mm) like in the following way.

25 m or 25.12 m
250 mm or 25 cm
25.1 cm or 251 mm
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You want to compare two construction details for the structure shown above, with the goal of attaching the tension struts to the masonry wall. This is done by anchoring 
the tension strut with a metal plate at the outside of the masonry wall (variant 1). Draw a qualitative internal forceflow for the given external load case. The grey lines are 
meant as guide lines. Next, you want to analyze in what way the position of the metal plate within the wall influences the internal forceflow. Therefore, the plate is placed 
in the center of the wall (variant 2). Draw its internal forceflow and discuss for each case, which part of the cross section is used for the force transfer. Where in the corss 
section does the resultant arch force act? What are the advantages and disadvantages of both connection details and why?

As a third variation (variant 3), you want to avoid using tension struts. What solution do you recommend, in order to deviate the arch forces into the vertical walls? What 
has to be paid attention to regarding the wall structure?

Construction details built from masonry

Deviation of compression forces without tension struts

Steel plate in middle or on outside of masonry wall

Axonometry

Task 4

4b

4a

Detail: connection detail of tension strut in masonry wall

connection detail

variation 1

variation 2

variation 3

connection detail

section through connection

section through connection
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Analysis and developement of construction details
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